
=LPDB����

3UDFRZQLN�5R]NãDG���PJU�:RMWDOD�įDQHWD��7\J������

�������������7\J�����

OLFHQFMDFND�SUDFRZQLD�DUW��SURM��JUDI��G��3UDFRZQLD�G\SORPRZD� PJU�:RMWDOD
ĩDQHWD��SURI��8-'�3yáUROD�$JQLHV]ND� '������'����� ���*�O����XĪ\WNRZD�����
*�0����8ĩ<7.2:$

=DMĊFLD�RG���W\JRGQLD�PJU�ĩ��:RMWDOD�Z�JRG]���������������SURI��$��3yáUROD�Z
JRG]��������������

�������������7\J�����

.RQVXOWDFMH� PJU�:RMWDOD
ĩDQHWD� '�����S�
.RQVXOWDF\MQ\

SR
QL

HG
]L

Dã
HN

:
W

ģ
U

�������������7\J�����

*UDILND�HG\WRUVND��ODE��
PJU�:RMWDOD�ĩDQHWD� '�
�����'����� ���*�0����
:

�������������7\J�����

3RGVWDZ\�JUDILNL
SURMHNWRZHM��ODE�� PJU
:RMWDOD�ĩDQHWD� '�����
'����� ���(3�/��������*�
/����JU�

=DMĊFLD�GOD�JU��

������
�������7\J
����

.RQVXOWDFM
H� PJU
:RMWDOD
ĩDQHWD

NRQVXOWDFMH
]GDOQH�QD
SODWIRUPLH
HQDXND

F]
Z

DU
WH

N

�������������7\J���������������

*UDILND�UDVWURZD� PJU�:RMWDOD�ĩDQHWD�
$%������.20387(52:$� ���,�,���
*.SL

ĈW
HN

6
R

1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


